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Time : 3Hrs.

Full Marks : 70

Pass Marks : 28

Answer all 20 questions from Group A, each question 

carries 1 marks.

Answer all Five questions from Group B, each question 

carries 4 marks.

Answer all Five questions from Group C, each question 

carries 6 marks.

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

The figure in right hand margin indicate marks.
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8.

Write in short about different types of processing 

machines.

Why tillage is necessary ? How it is performed?

Discuss it.

OR
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1. Choose the most suitable answer from the following

options :1x20=20

(i)

(i)

(ii)

P.T.O

GROUP - A

                 GROUP  - C

7.

6

6 x 5 = 30 Answer all Five Questions.

1611503

In general placing of fertilizer by seed-cum
fertilizer drill is done at the depth of 
(a) 8 cm to 12 cm 
(b) 2 cm to 4 cm
(c) 15 cm to 20 cm 
(d) None of these 

Which tool is used for sowing of seeds at 
fixed interval?
(a) Dibbler 
(b) Puddler 
(c) Both (a) & (b)
(d) None of these 

NT5003 NT5003
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Write about the care and maintenance of sprayer.

short description. 

4

6.

What is Duster? Write the type of Duster with brief

description.
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(iii)

(iv)

(iii)

(ii)

P.T.O

5.
Power operated sprayer worked at the 

pressure ranging from.
2(a) 2 to 3 kg/cm   

2(b) 20 to 55 kg/cm   
2

(c) 5 to 10 kg/cm  

(d) None of these 

 

The Tilt angle varies for a good plough is 

(a) 5° to 10°

(b) 15° to 25°

(c) 50° to 100°

(d) None of these   

 

Write short note on Manure spreader.

Write the differences between "Vertical Suction" 

and "Horizontal Suction".

Write the reasons of threshing drum blockage with 

their remedies.
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3.

(iv)

P.T.O

OR

The useful life of cultivator is

(a) 10 Year  

(b) 15 Year

(c) 20 Year

(d) 18 Year 

(a) Man power   

(b) Bullock 

(c) Tractor 

(d) None of these 

Write the purpose of ploughing 

Write the differences between Disc angle and Tilt 

angle.

Write the functions of cultivator.

Write short note on scrapper.

4

1611503
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(v)

(v)

(vi)

4.
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(vii)

(vii)

(viii)

(vi)(xx)

Answer all Five Questions.
4 x 5 = 20

2.

4

Bakhar and patela are 

(a) Primary tillage implements 

(b) Secondary tillage implements

(c) Both (a) & (b)

(d) None of these.

(a) Shin     

(b) Bearing 

(c) Heel

(d) Wing 

P.T.O

Write the functions of seed drill.
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(viii)

(ix)

(ix)

Minimum crushing capacity by Bullock 

Driven sugarcane crusher is  

(a) 150 kg sugarcane / hr.   

(b) 300 kg sugarcane / hr.   

(c) 500 kg sugarcane / hr.   

(d) None of these  

Automatic potato planter is 

(a) 6000-14000 Potatoes/hr

(b) 16000-32000 Potatoes/hr

(c) 1000-2000 Potatoes/hr

(d) None of these                                                                                                                                                                                                                                                        

A puddler performed better, when water 

depth in field is 

(a) 5 cm to 10 cm 

(a) 11 cm to 20 cm

(c) 21cm to 30 cm

(d) None of these 

     

type" chaff cutter?

(a) Aluminium 

(b) Gold

(c) Cast Iron 

(d) None of these

P.T.O

1611503

(x)

(xviii)

(xix)

(xx)

(xix)
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The harvesting capacity of crops by a tractor 

mounted reaper is may be  

(a) 0.8-1 ha/hr 

(b) 0.2-0.4 ha/hr

(c) 0.4-0.6 ha/hr

(d) None of these 

"Spike tooth harrow" can be used

(a) Before ploughing 

(b) After ploughing  

(c) For removing clods 

(d) None of these 

the seeds into 
(a) Furrow   
(b) Furrow slice 
(c) Seed tube 
(d) None of these 

(a) Kill weeds by decomposing    
(b) Reduce leaching of water
(c) Make soil soft for transplanting paddy 
      plant
(d) All of the above  

(xi)

(xi)

(x)

P.T.O
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(xii)

(xvii)

(xvii)

(xviii)

(xvi)
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Sub soiler can be operated at a maximum

depth up to  

(a) 100 cm  

(b) 200 cm

(c) 300 cm

(d) None of these

"Depth of penetration" of Disc Harrow can 

be increased by 

(a) Adding additional weight  

(b) Increasing the Disc angle  

(c) Both (a) & (b)

(d) None of these 

In three tyned cultivator the thickness of 
shovel is
(a) 5 mm
(b) 3.15 mm to 4.50 mm
(c) 2.5 mm
(d) 5 mm to 10 mm

Automatic potato planter can plant the 
potato in
(a) 6 Rows
(b) 2 to 4 Rows
(c) 10 Rows
(d) 12 Rows

(xiv)

(xv)

(xv)

(xiv)

(xii)

(xiii)

(xiii)

P.T.O

1611503
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Write an essay on Repair and maintenance of farm

machines.

Write the process of calibration of a seed Drill

 

Write in brief about tractor drawn Disc Harrow .

What is the scope of farm mechanisation in India?

Explain it. 

9.
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10.
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Write an essay on Repair and maintenance of farm

machines.

Write the process of calibration of a seed Drill

 

Write in brief about tractor drawn Disc Harrow .

What is the scope of farm mechanisation in India?

Explain it. 

9.

OR OR



Describe the safety precautions taken during 

working on thresher.

Write different types of mowers. What is the 

importance of proper registration and alignment of 

mower?

OR
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11.

***

Describe the safety precautions taken during 

working on thresher.

Write different types of mowers. What is the 

importance of proper registration and alignment of 

mower?

OR
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